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% L & & 14,850,000 CHERZET.)
L X F & (B) FRIREH
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (B) FTARIRESR 13,500,000 A,
2 | (A)ESMH 13,515,000

3 | BZHEZE () 13,515,000

4 | (B)EER 13,530,000

5| (HAFLEIE 13,530,000

6 | (BR) KDOHLETFHEIE 13,550,000
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% L & & 5,885,000 CHERZET.)
L X F & B FLETE
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(M) (M) (M)
1| (#HLEIE 5,350,000 &AL
2 | (A)&EEX 5,380,000
3| (A ESH 5,400,000
4 | (BR) EDOHEIHIE 5,400,000
5 | BZHEZE () 5,450,000
6 | (B) TREEX 5,480,000
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% L & & 4,510,000 CHERZET.)
L X F & (B BE®
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (B)BER 4,100,000 A,
2 | (A) FRIEEHK 4,120,000

3 | () fETEe& 4,120,000

4 | (B)RHNERHK 4,150,000

5 | (%) SEEHK 4,150,000
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15 AR | PLUET 0 RET N Rl |KERRIE
A f # 1T H SF5E11H10R8
% L & & 3,575,000 CHERZET.)
L X F & (B)AEKEITE
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (A)BEEKEIE 3,250,000 &AL
2 | (B)BHKELK 3,270,000
3 | (B)#IRIEFT 3,270,000
4 | FFREHR(¥R) 3,280,000
5| (BHLEIE 3,290,000
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I % 0% % | REAERKEFEREE SIUAERHTMK
15 A | FLuET £ ILTEET Hhin Bl |EARA—HXIHE
A f # 1T H SF5E11H10R8
% L & & 6,600,000 4 CHERZET.)
L X F & (B) FRIREH
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1| (B) TKRIREK 6,000,000 EAL
2 | (A ESH 6,100,000
3 | BZHEZE () 6,100,000
4 | (BR) EDOHEIHIE 6,100,000
5| (HAFLEIE 6,105,000
6 | (A)&FEX 6,110,000
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% L & & 23,100,000 4 CHERZET.)
L X F & e I BB 7 (%)
ol A A o2 o= o= | A *(I,H1)ﬁli # E]k(;lq,gﬁ% EQ{&F;H),M% "
1 | FEREE (%) 21,000,000 A,
2 | () TR TS 21,400,000
3| () AHTHR 21,500,000
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